Subject: Re: summation problem
Posted by davidf on Thu, 05 Apr 2001 16:48:30 GMT

View Forum Message <> Reply to Message

Jaco van Gorkom (j.c.van.gorkom@fz-juelich.de) writes:

> Geez! Thanks for pointing that out! This solves everything Manish: IEXCEPT = 0.
Shut your Command Output Log window and IDL will also run flawlessly! :-)
Cheers,

David

David Fanning, Ph.D.

Fanning Software Consulting

Phone: 970-221-0438 E-Mail: davidf@dfanning.com

Coyote's Guide to IDL Programming: http://www.dfanning.com/
Toll-Free IDL Book Orders: 1-888-461-0155
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